

# **Grant All-Detail Report Buffer Law 2019**

**Grant Title -** 2019 - Buffer Law (Renville SWCD)

**Grant ID** - P19-2489

**Organization -** Renville SWCD

Original Awarded Amount	\$45,000.00	Grant Execution Date	1/14/2019
Required Match Amount	\$0.00	Original Grant End Date	12/31/2021
Required Match %	0%	Grant Day To Day Contact	Holly Hatlewick
<b>Current Awarded Amount</b>	\$95,000.00	Current End Date	12/31/2021

#### **Budget Summary**

	Budgeted	Spent	Balance Remaining*
Total Grant Amount	\$95,000.00	\$42,708.26	\$52,291.74
Total Match Amount	\$0.00	\$0.00	\$0.00
Total Other Funds	\$0.00	\$0.00	\$0.00
Total	\$95,000.00	\$42,708.26	\$52,291.74

<sup>\*</sup>Grant balance remaining is the difference between the Awarded Amount and the Spent Amount. Other values compare budgeted and spent amounts.

#### **Budget Details**

						Last	
	Activity					Transaction	Matchin
Activity Name	Category	Source Type	Source Description	Budgeted	Spent	Date	g Fund
Staff time	Administration	Current	2019 - Buffer Law (Renville	\$95,000.00	\$42,708.26	12/31/2020	N
	/Coordination	State Grant	SWCD)				

Report created on:4/29/21 Page 1 of 6

### **Activity Details Summary**

Activity Details Total Action Count Total Activity Mapped Proposed Size / Unit Actual Size / Unit

### **Proposed Activity Indicators**

Activity Name	Indicator Name	Value & Units	Waterbody	Calculation Tool	Comments
---------------	----------------	---------------	-----------	------------------	----------

### **Final Indicators Summary**

Indicator Name	Total Value	Unit

Report created on:4/29/21 Page 2 of 6

## **Grant Activity**

Report created on:4/29/21 Page **3** of **6** 

Grant Activity - Staff time	
Description	District staff will over see and administer Buffer Law implementation at a billable rate of \$44.02 for technical staff,
	Conservation Assistant \$34.29 and \$61.43 for District Administrator oversight
Category	ADMINISTRATION/COORDINATION
Start Date	End Date
Has Rates and Hours?	Yes

Report created on:4/29/21 Page 4 of 6

#### **Actual Results**

2019

District Administrator spent 50.5 hours at a billable rate of \$61.43 totaling \$3,102.22 administering the buffer law.

District Technician spent 82 hours at a billable rate of \$44.02 totaling \$3,609.64 administering the buffer law.

2019 Expenses

\$785.73 Radio ad giving CS deadlines, Chromebook for buffer inspections, Onstar internet for buffer inspections. END 2019

2020

January 1 through June 30

District Administrator spent 19 hours at a billable rate of \$61.10 totaling \$1,160.90 administering the buffer law.

District Technician spent 46 hours at a billable rate of \$45.56 totaling \$2,095.76 administering the buffer law.

District Technician spent 25.75 hours at a billable rate of \$38.98 totaling \$1,003.74 administering the buffer law.

District Conservation Assistant spent 2 hours at a billable rate of \$45.94 totaling \$91.88 administering the buffer law.

2020 cont.

July 1 through December 31

Outreach Technician spent 136.46 hours at a billable rate of \$38.38, totaling \$5,319.21 administering buffer law.

Outreach Technician spent 187.72 hours at a billable rate of \$38.62, totaling \$7,249.75 administering buffer law.

Conservation Assistant spent 205.27 hours at a billable rate of \$45.45, totaling \$9,329.52 administering buffer law.

Conservation Assistant spent 172.32 hours at a billable rate of \$45.08, totaling \$7,768.19 administering buffer law.

District Administrator spent 13.08 hours at a billable rate of \$60.61, totaling \$792.78 administering buffer law.

Water Resource Technician spent 10.33 hours at a billable rate of \$38.62, totaling \$398.94 administering buffer law.

Report created on:4/29/21 Page 5 of 6

#### **Grant Attachments**

Document Name	Document Type	Description
2019 SWCD Local Capacity and Buffer Law	Grant Agreement	2019 SWCD Local Capacity and Buffer Law Implementation - Renville
Implementation		SWCD
2019 SWCD Local Capacity and Buffer Law	Grant Agreement	
Implementation Amendment	Amendment	
2019 SWCD Local Capacity and Buffer Law	Grant Agreement	2019 SWCD Local Capacity and Buffer Law Implementation - Renville
Implementation EXECUTED		SWCD
All Details Report	Workflow Generated	Workflow Generated - All Details Report - 03/24/2020
All Details Report	Workflow Generated	Workflow Generated - All Details Report - 03/16/2021
All Details Report	Workflow Generated	Workflow Generated - All Details Report - 12/07/2020
All Details Report	Workflow Generated	Workflow Generated - All Details Report - 01/28/2020
All Details Report	Workflow Generated	Workflow Generated - All Details Report - 09/03/2020
All Details Report	Workflow Generated	Workflow Generated - All Details Report - 01/13/2021
Unexecuted Grant Amendment	Grant Agreement	
	Amendment	
Work Plan	Workflow Generated	Workflow Generated - Work Plan - 01/31/2019
Work Plan	Workflow Generated	Workflow Generated - Work Plan - 01/31/2019
Work Plan	Workflow Generated	Workflow Generated - Work Plan - 02/13/2019
Work Plan	Workflow Generated	Workflow Generated - Work Plan - 08/21/2018

Report created on:4/29/21 Page 6 of 6